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Plot Sensor and FgRec Data
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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P3-5

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS R

06:30 278 150.0 2.583 FA| 1E21%@06:30 B3zh (FkAEREE)
07:20 278 150.0 2.583 FA| 1Ri%@07:20 Bz (REERSE)
08:10 278 150. 0 2.583 FA| 1E2i%@08:10 Bz (kAHERESE)
09:15 278 150.0 2.583 PH| 1{Ri%@09:15 Bz (RAEES)
10:30 278 150.0 2.583 FA| 1BRi%@10:30 B3h (KRAMERESE)
11:25 278 150.0 2.583 FA| {Ri%@11:25 Bz CGRAERESE)
12:10 278 150.0 2.583 FE| 1Ri&@12:10 B (RS
12:55 278 150.0 2.583 FA| 1Ri%e12:55 B (KAHERESE)
13:45 278 150.0 2.583 FA| {Ri%@13:45 Bz (CGRAERE)
15:05 278 150.0 2.583 FE| 1Ri&@15:05 B (RAERSE)
16:35 278 150.0 2.583 FA| {Ri%@16:35 Bz (GkAEEE)
23t+]3058.0 (117%) 1650. 0 3 3HKEC: 2080.0, PH: 6.0

#HERECE (2220.0 vs 4703.0) d5
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P3-5

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

07:00 273 150.0 2.583 S| {Ri%@07:00 B (RAAERSE)
07:40 273 150. 0 2.583 E BRi&e07:40 Bz (GRAERSE)
08:20 273 150.0 2.583 F  BRi%e08:20 BE1 (RAERE)
09:30 273 150.0 2.583 (£ =| {Ri%@09:30 Bz (KRAAERSE)
10:20 273 150. 0 2.583 |Z=| 1BRi&e10:20 Bz (GRAERE)
11:05 273 150.0 2.583 |Z=| {Ri&e11:05 Bz (REEBSE)
11:55 273 150.0 2.583 (Z=| {Rige11:55 Bz (REAERSE)
12:40 273 150.0 2.583 (Z=| {Ri%e12:40 Bz (REAERSE)
13:25 273 150.0 2.583 F BRige13:25 Bz CGRAERESE)
14:10 273 150.0 2.583 =l Rige14:10 B3 (GRAERSE)
14:55 273 150. 0 2.583 E BRige14:55 Bz CGRAERESE)
15:40 273 150. 0 2.583 El BRi&e15:40 Bz CGRAEREEE)
16:50 273 150.0 2.583 (£ =| 1Ri%@16:50 Bz (KRAEBSE)
23t 3549.0 (13%) 1950. 0 3Z U KEC: 2080.0, PH: 6.0

#HERECE (2323.0 vs 4560.0) 35
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P3-5_0, Day=61 (2025-05-29)
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